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{2) .-\}l qutstions rirrrr. ttlrral rrrtrlis.
(3) I.-jgurr\ l{} llte rigbt iutlic:rtes l\rll rnarks

(l l) Attenrpt an), '4' of the fbllorving:-
r) Drau,tlre diagraplr of relation, R = {(1,2)(3,4)(3,2)(4,5)(t,a)i and

write down its acljacency trratrix.
2) If the functionf:R + R Defined asf(x) ='+ Vx e R thep
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shorv that I is bijective. Hence Find /*1.
State and explain domain, co-domain and range of a flinction. col-u

lf f (x) : 9 - 4x and g(x) = 2x - 7. Find the con.rposite function cor-A

defined by f og(x)and gof (x).Verily r,vhetlrer f og(x) = gof (x),
Let A : {1.,2,3,4,5}. Define a relation R on Aby xRy if and only if cor-,{

x I 1 : y. Find the relation R and write dorvn its adjacency lnatrix
Also draw diagraph of R
Let R = {(i,1)(1,3)(2,2)(2,4)(3,3)(3,1)(4,4)(4,2)} be the relation on cor'.\

A = {1,2,3,4}. Shorv tltat R is an equivalence relation on A. AIso rvrite
down the equivalence classes with respect to relation R

Attempt an), '4' of the follorving;-
Using cornbiuatorial argument prove that co2-E

C (n,r) * C(n,r - 1) = C (n + 1-,r)
Hou' many different license plates are there, that involve 1-,2, ot" 3 co2-'{

letters followed by 4 digits?
Among 100, students, 55 students got distinction in firstyear, 30 gol co:-n

distinctiou in second year, 15 got distinction in both years. Therr
how many students got distinction in

i) At least one year
ii) Only in first year
iii) Only in second year.

In how nlany ways can 10 boys and 5 girls stand, so that trvo girls co2-.{

are next to each other ifthey are standing,
i) Along a straight line
ii) Around to circle

State and define Turning Machine. co2-R

State and explain Regular Languages. co2-t-l

Attenrpt any'4'of the follorving
Find adjacency matrix of graph G given below co3-A
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De litrc tlie tcrnt -l'ree. 
Erplairt rvith exr nrp)e

llr.al.r' all ricrn-isontorlthic trees on 6 vertlces.
Fincl the level oleach vertex oi.binat.\/ tl.ee hence flnd the height o1'
lollolving tree
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Dlaw all possible graph r.vitlr 3 vertices
Wlrat is graph? Explain adjacency. and incidence.
Atternpt any '4' of the following
What is tlre plefix fonn for the erpressiotr
((r+y) rz)+(x-l/3)?
Lel f: A -+ B and A = B : R, f(x) = x4 + 1, finc1/-1
Define height of binary tree and explain.
Determine if the following is distributive lattice, justi$r

s) Show that, at apafiy of 20 people, tl.rere are two people r,vho have
tl.re same number of friends.6) In horv lnany ways can r0 persons be seated in a ror.l,? If 3 of these
are \.voman, how ma^y ways can l0 people be arranged so that no
two women sit side by side?
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